@ LR AR A RA T

HPLC Beijing United Technology Corporation Ltd

ZiE BRAUER ZEUILE K BE T H
Nitro-Carburized And Black Oxidized Clamps

BRAUER Bk ILE R BEARHEMFHR RIS

KV, HEER H75/1BK, H150/1BK, H250/1BK, H350/1BK, H450/1BK

K, EZEEA | H50/2BK, H80/2BK, H150/2BK, H250/2BK, H350/2BK, H450/2BK

#*H, HEY V90/1BK, V150/1BK, V250/1BK, V350/1BK, V450/1BK

bl Rl S A R

EH, EZMEA | VI0/2BK, V150/2BK, V250/2BK, V350/2BK, V450/2BK

LK, BERERRHAGRTRSHMT:

e M A Al | B Bl (B2 |[B3 |B6 |C C2 |D |H H1 L L1
H75/1BK M5x25 18 27 8.1 41 | 132 | 91 225 | 26 5.1 55 | 51.8 | 477 | 1257 | 418
H150/1BK M6x35 26 39 141 |91 | 175 | 124 | 435 | 37 55 |55 |742 |71 186.8 | 60.5
H250/1BK M8x45 26 44 141 |91 | 21 157 | 415 | 465 |7 62 | 882 | 844 | 2235 | 749
H350/1BK M10x55 415 | 59 162 |92 | 26 18.7 | 47 596 | 8 88 | 1144 | 1075 | 279.3 | 103.9
H450/1BK M12x70 44 65 162 | 67 | 28 209 | 47 759 | 135 |85 | 1284 | 1262 | 3147 | 122

B2
B3,

¥ E1l @ 309 = Hlliﬁ 100029

Tel: 86-10-62022930 Fax: 86-10-62361105 website: www.hplcnet.com _E-mail: info@hplccn.com



http://www.hplcnet.com
mailto:hplccn@126.com

HPLC

B BRI A FR A 7

Beijing United Technology Corporation Ltd

2K, BRI B RST RSB T

e M A |A1l |[B |Bl |B2 |[B3 [B6 |[C |C2 |D |H H1 L L1
H50/2BK M4X16 16 24 16 24 10.2 s 20 11.7 5.75 4.2 29.3 26.3 91.8 23.7
H80/2BK M5X25 18 27 16.8 27 13.2 9.1 225 18 5.1 5.5 43.4 38.9 126.3 42.6
H150/2BK M6X35 26 39 28 39 17.5 12.4 43.5 25.5 - 5.5 63.2 59.5 186.7 60.5
H250/2BK M8X45 26 44 31 45 21 15.7 415 32.2 - 6.2 73.9 70 223.2 74.9
H350/2BK M10X55 415 59 43 59 26 18.7 47 40 - 8.8 94.8 87.9 279.4 103.9
H450/2BK M12X70 44 65 42 67 28 20.9 47 52.3 13.5 8.5 104.8 101.6 314.7 122

D
1 _1":_” !A_=:
« & 8| — — _@.
| % W —
A
|

Tel: 86-10-62022930

MEZ%: 100029

No.12 Yumin Road ,Chaoyang District, Beijing100029, China

Fax: 86-10-62361105 website: www.hplcnet.com _E-mail: info@hplccn.com



http://www.hplcnet.com
mailto:hplccn@126.com

—_—ta
JE R BB RIHE B R A Al
L /IN
Beijing United Technology Corporation Ltd
itk M A |[Al1 |[A2 |B |Bl |[B2 |B3 |B6 |[C |C2 |D H L L1
V90/1BK M5X25 16 25 45 |81 |41 132 |91 | 225 | 308 |55 |45 1203 | 635 35
V150/1BK M6X35 14 29 7 102 |52 | 175 | 124 | 435 | 376 |55 |55 169.1 | 86.5 53
V250/1BK M8X45 | 21 39 9 102 |52 | 206 | 155 | 415 | 49 65 | 6.8 200.1 | 107 62
V350/1BK M10X55 | 32 50 8 141 |71 | 255 | 184 | 47 62.3 | 13 9 2474 | 153 95
V450/1BK M12X70 | 32 53 105 | 141 |71 | 28 209 | 47 69.8 | 9 8.8 2655 | 1735 | 1135

hand force

stop pin position 1
stop pin position 2

L1 Al

& : &

-

4. H, FEZBRRHERABRTESHWT:

¥ E1l @ 309 = Hlliﬁ 100029

Tel: 86-10-62022930 Fax: 86-10-62361105 website: www.hplcnet.com _E-mail: info@hplccn.com



http://www.hplcnet.com
mailto:hplccn@126.com

Al ERERRAH A RAT

HPLC Beijing United Technology Corporation Ltd
iR ) A |Al |B1l |B2 |B3 [B6 |C H L L1
V90/2BK M5X25 16 25 433 | 132 |91 | 225 | 1941 108.5 | 63.5 35
V150/2BK M6X35 14 29 38 175 | 124 | 435 | 247 156.2 | 86.5 53
V250/2BK M8x45 | 21 39 45 206 | 155 | 415 | 327 183.9 | 107 62
V350/2BK M10X55 | 32 50 64 255 | 184 | 47 38.7 2229 | 153 95
V450/2BK M12X70 | 32 53 63 28 209 | 47 46.7 2424 | 1735 | 1135

hand force

stop pin position 1
————— stop pin position 2

¥ E1l @ 309 = Hlliﬁ 100029

Tel: 86-10-62022930 Fax: 86-10-62361105 website: www.hplcnet.com _E-mail: info@hplccn.com



http://www.hplcnet.com
mailto:hplccn@126.com

